Rubric.

Points 5 4 3 2 1
Joint All joints are | One joint is Two joints One joint is Two or more
Location located at the | incorrect, but | are incorrect, | incorrectand | joints are
meeting of sensible - but sensible - | does not incorrect and
two or more such as such as make sense — | one or more
bones sutures in the | sutures inthe | such as the of theses does
cranium or cranium or middle of the | not make
the cartilage the cartilage femur sense — such
that connects | that connects as the middle
ribs to the ribs to the of the femur
sternum sternum
Joint The correct One joint is Two joints Three or more
Type name is given | mis-identified - are mis- joints are mis-
to all joints identified identified
Joint The correct One joint is Two joints Three or more
Motion motion is mis-identified are mis- joints are mis-
listed for all - identified identified
joints
Bones All bones are | All bones are | One bone is Two bones Three bones
(As this is identified and | identified mis-identified | are mis- are mis-
review, this spelled correctly, one identified OR | identified OR
part of the correctly or more one is mis- two are mis-
rubric is more misspellings identified, but | identified, but
demanding.) with several with several
misspellings | misspellings




